1. 0ggg 1

2008 O 08 0O 26 O

Jubogdogtdbootdog
000000 0000000 0000

1 0000

gogobbbbouoogobbbbbuooooobbobbboooooobbo
gogobboobbooogoobbobbboooooooboobboooooon
goggbbbbboooooobbbbbbuoooooobobobbbuoooooon
ggoooboogdad

2 0OOoo

ggoogoobbooogobo

oo 1

=000 (r=e¢000)0000000000 f(z) 00000000 z=a0
0oooooo

lim f(x) (1)

r—a

00000000 f(eDOODODDODOOODOODO

00O (1) 0oDoo0000ooooo00ooooo0oooooo0ooooood
gog

lim f(z) = lim f(z) = f(a)

z—a+0 z—a—0

O0000000000000000000000 000000000000 ([1)Oo



2. 000 2

gbooboobooboboboboobooobooboo Iooboobooboobo
0000000 1 000000000000000000000000 1 = [a,b] =
{r;a <2<} 00000000000 z=a,z=000000000000000
ERERE

lim f(x) = f(a), lim f(z)= f(b)

z—a+0 r—b—0

goobobooooobooodo

gogbooboobobobodgoooooboooooobboobbboodoooooon
ggbbbuoogoobbooooobobo

000000000 [z 0000000000000 000D0ODODOOCOOOO0O0

[2]=2z00000000 (2)
)
R haE e
2p-- - —o |
It--e— 1
—1 Ly

01000000000

ggboobuoooobbob 20000

lim [z] =2, lim [z]=2—-1
y—z+0 y—x—0

0000000000000 000000000O0O0O000 (CooDoODOOO0O o)
gboogoooo

0000000000000 0000o0O0O00ooOo0o0oD (ooooooo)o

0 (zx0000000)

1 (z0000000) )

o) = {



2. 000 3

020000000 fp(x)D00OO

gogobobbooooooobobobobbbooooooooboboobbbouoooon
gooodbbuoodb 000000 b0b0o0b0bobbog «0gobbogn
0, 1gb0b0booobbboooobbob 1000bbboo0oob 000D DOO
ggbboobubboooobb 00000000000

gogbbobooobboboooobboood

(x0000000)

0
A =4 1 4
p

(000000000000 2000)
p

0000000 200000 ¢/p000p,¢0000000000000p>000
000000000000000000000000000000000000 f(z)
000000000000000 (00000000)0

0000 fi(z) 00«¢0000000 « 000000000000 «000000
0000«00000000000 fp(¢) 00000000000000e0000
0000020 «000000020000000 fiz)=fi(e)=00000000
0000 (00)0z 0000000000000 2=¢/p0000000 0000
00000000 p(0000000 ¢00000)000000000000000
0000000 p00000000f(z)=1/p0 0(=f1(a) 0000000000
00000000000«0000000

lim fi(z) = fi(a) =0

r—a

ggbbbuoogobbodao



3. 0oogdd 4

O 3: folx) =afp(z) D000

0000000000 fp(x)0 200 fo(z)=afp(x) 000000000 2£00
000000000 »000000000z=00000000 (00000000
000000000000 500000000)0

3 Uooon
00000000000000000

ggd 2

=000 (r=e¢000)0000000000 f(z) 00000000 z=a0
000000000000

i 1@) = (@)

t—a o —q

(5)

0000000000 (0000000000 f/(e) 000)0

00 (5)000000000000000O0DODOO0O0D0DUOD0OOOODODOO



3. 0oogdd 5

ggoboboooobbobooooboboboood

lim f'(z)

z—a+0

00000000ooooooD (DOoDoDoOoooOo4000000000)O

0000000000000 0000000000000000 I=(ae,b) 0000
gbobogbgoboobobobobbo roobobboboobooon

gbobogobbodbbuooboobbuoobobooobboobboobobood

agg 3

r=¢0000000000000 f(r)Dz=e00000000002=a000
goon

g

()0000000C0C0000000ODDODOOO ADDOODOO

i () — (@)} = iy I

T—a Tz—a T —a

(x—a)=Ax0=0
oooDOooo(1)0oDooop

ggbobbbbouooooobbbbbbooooooobobobbbooooaon
Oy=Jz|0 2=00000000000000000x=000

=0y =0
z—+0 x — 0 z——0 x —(

—1

000 () DO000O0O0OD0O0OD0ODO0Oz=000000000DODOOODODOOOOOO
ggbbbuoooobbbuoogobbbuoooobobbuoooobobod

gbooobooboobboobuooboboobuooboobobooboobbo
gbooobooboobboobooboobobooboobbooboobbo



4. 00000000 O00000004d 6

04 |/ 0000

0000000000 f,(x) 000000000000000 (00000000 (2,
[4] 00)O

fuw(z) = i a"cos(2rm"z) (0<a<1l,mO000 m>2) (7)

n=1

goggobbobobboooooobobobobbboodooooooobbbouoooon
ggbbbuoooobbbuoooobbbduooobobogao

4 OJ00O00OO0oOOoOboOobobOoon

gogbbobuoooobboooobboboo 2,300000

ggobbbbboooooobbbbbbuoooooobbbbbuoooooon
gogbbobuoobobbooogbbobuoooobbooooobboood

00 4(0000000)

00 f(x)DDDO0O I=e,b) 0000000000000 ODOOOOOOODOOOO
000000 ¢,d(a<¢,d<b)00000/000000 20000

fle) < f(z) < f(d)

000 (f(¢) 00000 f(d)0000)0



4. 00000000 O00000004d 7

00 5(000000)

00 f(z) D000 I=[a,b) 0000 fa)# f(0) 00000 f(a)0 f(b)00000
000 vy (fla)<y< f(b)0OO f(a)>y> f(b) OO0O0DO00 f(e)=y 000 xz=c¢
07000 (e<e<b)000000OO0O0OOOOO

00 6(0O00000)

00 f(zx) 0000 [¢,6) 00000000 (a,b) 000000000

000 z=c007/000 (e<e<b)000000000OOODO

0000000000000 000000000O0O0OD0D000 (DoOobooo)o

f(z)yD0DD0O0O0O0OOODOO0DO0OODOOOOOOOOOO f(z)DODODOOOOOOO
00000oooooOdf(r) DOODDOOUOOOOODDOOOODDOOOOOOOOOOO
fs(z) D0xz=00000000 0000000000f(z)0 z2=0000000
god

0 (x=0000)
fs<x>{ . ®)
rsin— (x#£0000)
ogo
. f({l?)—f(()) . 1 /
l%%:i%xsm;:() (= /5(0))

O0000 rx=00000000000x#40000000

1 1 IR 1 1
fi(z) = 2wsin — + 22 (cos ) () = 2xsin — — cos —
T ) \z T T



4. 00000000 O00000004d 8

O000Ocos(l/z) 0 2=000000 —100 10000000002 —0000
D000000000000/4((0)000000 lim fi(e) 000000 f3(e) 0 =0
000000000000000000000

lim Jo(@) = 15(0) # lim_fi(x)

z—+0 x—0 z——+0

000000 (00 oooooooooO0)d30000 2000000oDoooOOd
gogoobooodon

000000000 f(-)000000000DO0O0O0OOOODOO f(z)0000DOO
0000000000 0oooooooooooon f(x) 00 (DO0ODODOO)
000000000000O0O00000OooooooO (3)o

gd 7

f(x) 00000 I=[e,b)00000000000000000000f(a)# f/(b) 0
D000f(e)0 f(p)00000000 y(f(a)<y< ()OO0 f(a)>y> f(b)
00000f()=y000 x=c0 1000 (a<c<b) 0000000000000

g

flla)<y< f(b)DO0O0O0O (f'(a) >y> f()yD00O0O00)Og(x) = f(z) —yz O
O0000¢(a)=f'(a)—y<0,¢'(b)=f(b)—y>0000000¢(x)0 z=a000
O0000xz=000000000000000000 g(a),gb) 000 100 g(x)
O000000000000000 4000000 ¢g(x) 000 10000 g(e)DOO
O00e<ce<bOOOOO0ODODOODOOOOOOOO ¢(e)=f'c)—yDODODODOODOO
00 c00000 ¢g(x) 0000000000000 00O00OD0O0O0O0O ¢(¢)=0000
0000000000 f(¢o)=y0000R

ggbbbbbouooooobobbbobboooooobbobbbbuoooooon
gogobobooboodabbbodoooooobbobbboooooooonon
ggbobobouoogoboo

0000 f3(x) 0000000000000 0OOOOOOOOOOOO0OOOOO0O0
gogbobboogobobobooooboobooooboboboooon



4. 00000000 O00000004d 9

gd 8

flz)0 x=¢00000000z=¢ 0000000000000

lim f'(z) = A

r—a

0000000000000000f(x)0 x=e0000000 fla)=A0000

HEN

r>al 20 o« 0000000000000 6000

f(z) = f(a)

P =f(¢c) (a<c<ux)

000 00000 (000000 600f'(e) 000000000 O0) 0200000
goobb cO0000D0D0e<e<ezUOUUOUOUO0O0Dr—-aUO0OO0ODOOOOOO0O0OO
c—a000000D00O00O0OOf(¢)»ADODDDODO

N ORSON

r—a+0 €T — Q

Uiblbrxr—e—-00000000000

LS - f)

t—a o —q

0000000 f(e)00000 fla)=A0O0O0OR

goon

0 (z<000D0)

or={

z (x>0000) (9)

0000000x=00000000 z000002z<000 fi(z)=0,z>000
filz)=2:0000002z=000000

lim f;(z) =0

z—0

00000000000 80D x=000000000f(0)=00000000000



5. oodd 10

5 OO

gogbob2 3000000040d

20000 fo(x)=xfp(x) 002=0000000000 200000000000
gbobobobobuobibdme=0000000000000000 20000
000000000000000000 fs(x)=2%p(x) 00000000000
OO00z#000000D0O000O00O0DOOCOODOOO

OSfoD(a:)ga:Q
gooogogoogno:

Or=a0000 f(z)<g(z)<h(x) DOOO

lim f(x) = lim h(x) = b

r—a r—a

000 limg(z) 00000 limg(z) =60000
ERERE 1ir%f5(m):0DDDDDDDDDDD

fs(x) — f5(0)

0 -~ ofol@)

0000
—|z| < zfp(z) < ||

googgbboboogobood

lim f5(x) — f5(0)

z—0 x—0

=0 (= f5(0)

O000000000D0o000fs(x)0 z2=00000000000

000000000ooon f,(r) 00000 20000000000 200000
gboboogboboooooobobomobool «.000002z=00000



5. oodd 11

000000000000000000000 fe(x) =2,(x) 000000 (x=0
0000000000000 fs(zx)DOODDOOOO)O

gggbbbbouoooooobbbbboooooobbobbobouoooonn
ggboboboogoboboooobobbooogoon

00 9(O000O000o0)

r=a00000000000000000 f(z), g(x) D0z #a00 g(z) #000
fla)=g(a)=00000

@)
i g(z)

(10)

ggooboboogon

lim 1) (o/o0o0O0)

=a g(x)

ooooodo(o)ooooo

gogobbbbbbbouooooobbbbbbobobbbboodooooooon
gooooobon

. x—sinz . (z—sinz) . 1—cosz .. (1—cosz)
lm —— = lm~———7—*=1lm——>— =lim————*>
z—0 3 z—0 (133)’ x—0 32 z—0 <3x2)’
. sinxz  (sinz) . cosx 1
= lim = lim = lim ==
z—0 Ox x—0 (61‘)’ z—0 06 6

gbooboooobbboooobobboooobobobooooboon

gbooobooboobbooboobbooobooboobbuooboobbo
gbooobooboobboobuooboobobooboobboobooobobo
0 (10) 0000000000000 00000000000 =000O0O0O0O0O0O0
gbooooboobbooboooboobbooobobooboooboobobo
00000000000000D000000 o

00000000000 00000000000000000000000000000



6. DO0Od 12

00 (10) 0000000000000 DODO0O0000D0D0O0ODOOODODOOOOO
gogbobbooooobbbooodbbb=0000000000000000O
gogbobobuoooobbbooooobbbooobobobooooboobobooon

00000000000000000000000000000000000 400
0000 f3(z) 0000000 f0)=000000000

lim 7f3(x)
z—0

ggboboboooobobbooooobooo

T
lim f3( ) =limzsin— =0
z—0 z—0 xT

O0000000f(x)0 x=0000000000000000000000000O

!
lim f3§a7) = lim (21; sin l — COS 1)

z—0 z—0 x x

ggbodgbbbuoooobbbuoooobbodao

lim fs(z) = lim M

z—0 z—0 1

oooooo2o

6 Uogno

gbobooboboboboboobomobooboboboooboboooboobo
gogbobobobboogoooobobobbboooooobbobobboooooon
ggbbbuooobobboooobbbuoooobbob

gboboboboggbbuoobboobooobbuoobobooobboobbood
gogggobobbbobbtoooooooobbbooddooooooooooon
ggbbbuoooobbbuoooobbbduooobobboooooboo

000 2 00000000000000000 2=000000000000 x=000000
oooooo



6. DO0Od 13

oo

1] Oe-6 0000
http://takeno.iee.niit.ac.jp/ shige/math/lecture/basicl/
basicl.html#epsdlt

2] 0000000000 0000 (1996)084.10000000
3] 000000000 100000000 (1980)00 IO 200000000

4 DOODO0OOOOOO0OO0OO
http://takeno.iee.niit.ac.jp/ shige/math/lecture/info2/info2.htm



